P(q.1=54|0;=S,) = 1/2

P(01=85|9,=S,) = 1/2 A Markov SyStem

P(q..,=s;l0=s,) =0 [ Has N states, called s, s, .. s,

There are discrete timesteps,
(=0, t=1, ...

On the t'th timestep the system Is

P{Q1+1:51|Q[:51} = D
P(01=S,]0=s4) =0
P(01=53]0=84) = 1

In exactly one of the available
states. Call it g,

Note: g, €{S,, S,.. Sy }

N=3 Between each timestep, the next

(=1 Plaw1=s4l0=83) = 1/3 [state is chosen randomly.
P(Qy1=5,|0=8,) = 2/3 .

4,~G,=S, m‘*‘_sﬂqt_sa} __ |The current state determines the
Pl178:975) =0 Inrobability distribution for the

e e huE e xt state.
between states
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